
BUNN-O-MATIC CORPORATION
POST OFFICE BOX 3227

SPRINGFIELD, ILLINOIS 62708-3227
PHONE: (217) 529-6601    FAX: (217) 529-6644

www.bunnomatic.com

INTRODUCTION:
These kits allow for the installation of a lid lock and (or) handle lock for the Ultra 2.

KIT CONTENTS:
#34996.0000 Lid Lock & Cover - White
ITEM QTY PART NUMBER DESCRIPTION

1 1 35759.0002 Bracket, Hopper
2 1 35905.0000 Cover, Lid Lock
3 1 29734.0000 Lock, W/Keys
4 2 01384.0000 Screw, 8-32 x 1.5

#34996.0001 Lid Lock & Cover - Black
ITEM QTY PART NUMBER DESCRIPTION

1 1 35759.0001 Bracket, Hopper
2 1 35905.0001 Cover, Lid Lock
3 1 29734.0000 Lock, W/Keys
4 2 01384.0000 Screw, 8-32 x 1.5

#34996.0002 Lid Lock & Cover with Lock Bar - White
ITEM QTY PART NUMBER DESCRIPTION

1 1 35759.0002 Bracket, Hopper
2 1 35905.0000 Cover, Lid Lock
3 2 29734.0000 Lock, W/Keys
4 2 01384.0000 Screw, 8-32 x 1.5
5 2 34308.0000 Bar, Handle Lock

#34996.0003 Lid Lock & Cover with Lock Bar - Black
ITEM QTY PART NUMBER DESCRIPTION

1 1 35759.0001 Bracket, Hopper
2 1 35905.0001 Cover, Lid Lock
3 2 29734.0000 Lock, W/Keys
4 2 01384.0000 Screw, 8-32 x 1.5
5 2 34308.0000 Bar, Handle Lock

#34996.0004 Lock Bar
ITEM QTY PART NUMBER DESCRIPTION

3 1 29734.0000 Lock, W/Keys
5 2 34308.0000 Bar, Handle Lock

Instructions for
Hopper Lid &
Handle Lock

35958.0000C   02/04  ©2003 Bunn-O-Matic Corporation

1

2

5

3

4



Warning: Disconnect the power source before the
removal of any panel or replacement of any
component.

1. Disconnect the lamp cords and remove the lids
from the hoppers.

2. Remove the left and right hoppers by lifting up and
out. See Fig. 1.

3. Using a flat head screw driver, carefully pry up and
remove the plastic plugs from the Hopper/Drip
Tray Trim. See Fig. 2.

4. Using a screwdriver, remove the two screws that
fasten the Hopper/Drip Tray trim. (Located be-
tween the two hoppers.)

5. Place the Hopper Bracket (1) on top of the Hopper/
Drip Tray Trim. See Fig. 3.

6. Using the screws provided with the Hopper Lock
Kit, fasten the Hopper Bracket to the Hopper/Drip
Tray.

7. Reinstall the hoppers.

FIG. 1

FIG. 3

FIG. 4

P2692

P2693

P2694

P2695

2

INSTRUCTIONS TO MOUNT THE LOCK KIT:

FIG. 2

35958  071703



FIG. 5

FIG. 6

FIG. 7

P2696

P2697

P2698

3

8. Place the lids back onto the hoppers and plug the
lid lamp cord back into the Ultra.

9. Using the slot in the top of the Locking Cover (2),
slide  the Locking Cover over the Bracket and into
place  onto the top of the hoppers. See Fig. 6

10. Insert the Master Lock (3) or use the locking pin
(attached to the lid lock cover) to secure the
hopper lock kit. See fig. 7.

Warning: Disconnect the power source before the
removal of any panel or replacement of any
component.

1. The handle Lock Bar (5) is a two piece lock kit.
Insert one piece of the bar through the left faucet
handle. Insert the second piece through the right
faucet handle. See Fig. 7.

2. Slide the two piece handle lock kit together until
the ends interlock and the holes align.

3. Insert the Master Lock (3) through the hole in the
lock bar to secure the handles.

INSTRUCTIONS TO MOUNT THE LOCK KIT (CONT.)

INSTRUCTIONS FOR INSTALLING THE LOCK BAR

35958  021304




